
Kaymar

90 Beresford Road, Lilydale, Vic, 3140, Australia
www.kaymar.com.au   sales@kaymar.com.au  P: +61 3 9739 4110  F: +61 3 9739 4111

Fitting  Instructions

Page 1										          Date published  March 28, 2018

Suitable for	
		  Jack Holder
Year		

Type		 Wheel Carrier
Part		   
		

Applicable to Part Numbers
K0491

Date published  March 28, 2018

Fitting K0491 Jack Holder to Wheel Carrier



Kaymar
Fitting  Instructions

Page 2								        Date published  March 28, 2018

1.	 Remove the 5/8” bolt from the topslide bracket as shown in Fig 1.

2.	 Fit the jack holder to the carrier frame and refit the 5/8” bolt - leave loose.

	 Fit the M10 x 30 x 1.5 bolt and washer through the base of the jack holder and bracket welded 	
	 to the carrier upright. Secure using M10 flat and spring washers and nut. DO NOT TIGHTEN. 	
	 Refer Fig 2 & 3.

Fig 1

Fig 2

		
Fig 3



Kaymar
Fitting  Instructions

Page 3								        Date published  March 28, 2018

3.	 Adjust the jack holder so as the top of the holder clears the tyre.

4.	 Fit the foam strip supplied to the top face of the carrier. Refer Fig 4.

5.	 Lift the jacking handle up approximately 100mm from the foot of the jack. Refer Fig 5.

Fig 4

Fig 5



Kaymar
Fitting  Instructions

Page 4								        Date published  March 28, 2018

6.	 Fit jack to the jack holder making sure non of the latches hit on the bracket. Once the jack is 	
	 in the correct position, secure using the clamping plate and M14 nut at the top of the bracket 	
	 and M14 x 35 x 1.5 bolt and M14 nut at the bottom. Refer Fig 6.

7.	 Slide the jack holder in or out so as the bracket clears the rim and tyre by about 5mm. Then 	
	 tighten all bolts.

Fig 6

		
Fig 7


